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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

The following diagram is the outcome of a Ql
survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the

option that is NOT correct.

(A) Thetotal number of employees who
responded to the survey was 54.

(B) 30employees can speak Hindi.

(C) 30employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. If*1"is Q2
exactly opposite 5, then which number will
be exactly opposite *2'?

@
(A) 3
(B) 4

(C) 5
(D) 6

Fr=fofias s s o @ fisd s
e & afEt g Tl O T
Wit @ Hem @ fou fy ny wdenr
@1 TRV B | AN & aEage & AR
99 ey o1 gram & @ TEd £

(A) |aET | W1 o T aetarar @
Fel Hem 548

(B) 30 T ar &6 aa v &)

(C) 30 T Al =1 9 wea £

(D) 23 FHEN dad a1 AT dld TH

g
Ud e @1 21 fufidt oofd o &) of2

S A 1 L - | e A Y
fufa ¥ @ wen 2rf?

(A) 3
(B) 4

(C) 5
(D) 6
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John started from point A and walked 12 km
towards the east, turned left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B, What is the
shortest distance between points A and B?
(A) 6km

(B) 8km

(C) 10km

(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statementL

Statement:

During efection period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures too.

Conclusion:

I) Women and children should not be
allowed to attend election rallies.

) Election Commission should issuesa
strict code of conduct for all politicians.

(A) Onlyconclusion I follows.

(B) Onlyconclusion Il follows.

(C) Eitherconclusion | or Il follows.
(D) Neither conclusion I nor Il follows.

Q3

Q4

wi fig A9 filg B uged & fog o
B 3T 12 km geen 8, afw fiw and 18
B 5 km IR "o 8| ifr o fig AW
fg B o vga & forg 3 km aféor 9 sl
g 8, Y Al aiw 78 @v 18 kmalk
woren & | g Asfiv B & dra =gem gf
frert 22
(A) 6km
(B) 8km
(C) 10km
(D) 14km

UE HerE AN TN war g1 Fred Ry
v 8§ | Faifa 3 & 89 o /9 Fed
wfe v | Ry mv Tuw @1 e
s/ /R

e

g & <N, uoifos e gEl 9
wearf¥rEt & fae snEt & gwRe I
# ol |e o afire woa N o &)

Foyean:

D wieemel @ w=f & g vl |
e 87 & armfy o & el
1iey |

I) &\ e &1 e oot @
fere @ amaw Wi @ H
uifey |

(A) ®ae Frepd | argaver swan )

(B) @aa Fresd 11 arpeeo s &)

(C) ar o Frswd | a7 Fresd 11 s
&Hvar 2

(D) A @ Feed | sk 7 & Frewd 11

RV Hear B
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Select the option that is a valid assumption
for the following statement.

Statement:

Despite a clear waming from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend.

(A) The friend does not like Ramesh much.

(B) The doctor does not like ice cream.

(C) lcecream is not good for Ramesh's
health.

(D) Diabetes patients do not like doctors.

A statement and two courses of action are =
given. Select the option that is a valid course ™

of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

.  Govemment should try to negotiate with
the transport association to cancel the
strike.

[i. Shoppers must buy and store some
extra vegetables beforehand.

(A) Onlyaction|
(B) Onmlyactionll
(C) Bothactionsland Il
(D) Neither action I norll

LM-D

v fawen 1 ga= o o FraforRea
o @ forg & awon &)

e

Fiaex B We FaE & qauE Y, 9
5 qerie & 0 & 9wR A i @
farame @ areR uw amgaam g |

(A) i v &) sl g 8 o
2

(B) Sfaey & agadm uwg T8 &)

(C) angwdm i & wawen & foe ared
T8 &)

(D) wephe & fy Siaedl & gwg 6
& ¥

UF U AR IS I o srdafRd §
T$ 8| 99 Rew o1 999 & o Ry 7y
wee @ form wg wptad &)

HE;

faifta oftaes seam @ o, TR ¥

wfiord! ) @@ & snef o = h w.

AT |

wrfard:

. wwor @ uReeq @9 9 ssOA
frw v @ o o ah aftg)

1. THFER & ged @ & s
wftwdt @i o¢ weifta s oh
ity

(A) dae wrdard |1

(B) ®aw srdard 1l

(C) wrfrdl 13 11 1

(D) = o sk 13w T @
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If Visible :: Eyes, then Audible :: 7.
Identify what can come in place of *7",
(A) Brain

(B) Nose

(C) Heant

(D) Ears

If Book :: Author, then Song :: 7.
Identify what can come in place of *?".
(A) Script Writer

(B) Lyricist

(C) Director

(D) Producer

In & certain coded language, if COPPER is
written as CI5SPI6E18 and SULFUR is
written as S21 L6U | 8, then how will the word
SODIUM be written?

(A) S15D9U21

(B) S19D4U21

(€) S15D9UI3

(D) S15D21M13

Pointing at a child performing on the stage, a
man in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?

(A) Uncle

(B) Nephew

(C) Grandfather

(D) Brother

Q7

Q8

Q9

Q10

ufd geiira .. ol o s o 7

T T |
(A) witass
(B) I
(C) ey
(D) &

gl gws o aas, o M2y

o W & gEfes (v @ mE W
a1 AT |

(A) UeHU dE®

(B) frasr

(C) Feys

(D) i

U@ fAfine Fe w1 ¥, af? COPPER &
C15P16E18 ferar sian & afik SULFUR
1 S21L6U18 fomm wmm 8 o W
SODIUM =1 &9 foran smom?

(A) S15D9U2]

(B) S19D4U2]

(C) S15D9U13

(D) SI15D21MI3

W W AR B W U@ q= @) iR
¥ & g afat A B ve afe A
®E1, T8 e o g w2 e
WA A A Ao A oag @ afR uw
wfdm frear &1 ofty =Y &, o 9ua Wa
W MoE 9= @ R & a7 dag &7
(A) =T/ |/ |

(B) o /i

(C) wm=n

(D) wE
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Given are four statements followed by four
conclusions. Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statements:

1. Some cats bark.

2. Those who bark do not sleep.
3. Allelephants sleep.

4. Nocat is an elephant

Conclusions:

) Some cats donot sleep.

) Some elephants bark.

Ill) Cats who bark are elephants.

IV) Elephants who do not bark are cats.

(A) Only conclusion | follows.

(B) Only conclusions [ and Il follow.
(C) Only conclusions IIl and IV follow.
(D) Only conclusion Il follows.

Study the following series and identify what
can come in place of *7".

STEM, MFRY, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW

QI

Q12

aR A AR Sua g 9r feed Ry
e # ) faftaa &% & & W/ 9 P
Ry v wuHl & Aftaa w9 @ g
AT/ W /8, ot @1 4 WA w0 A
i et & = et

U
1. oo fafeedt Siad 8
2. o ot & 4 ey ol §)
3. Wi eel |R 8

4. ord fach seit ot &)

e

n @ fafee A o8 &)

) %o enf e 8

1 o fafesa st € 4 echt 21
v) ot gedt sffea 6 &, & Rfeet €

(A) due fed | s avan €1

(B) Daa fremd 13w 11 srFpaw s &)

(C) daw fssd 111 8hR 1V e &0
gl

(D) Paa Fresd [ 3w & 8

frforftan gam & @ ik s & &
gEfE (‘7)) & ™M W #1991 U"
Jmge?

STEM, MFRV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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Study the following series and identify what
can come in place of *7".

JAM24, LEK28, NI132, POG38, RUE44,
TAC24,?

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

Study the following series and identify what
can come in place of *7".

83, 77, 68, 56, 41,23, 7
(A) 2
B) 7
(C) 10
D) n

Read the following question and decide which
of the additional information given in the
options is required to answer it correctly.

The age of a father and his son is in the ratio

of 13 : 3. Ifthe age of the mother is 33 years,

what is the ratio of the age of the father to
that of the mother?

(A) Thedifference between the ages of the
father and the son is less than the age
of the mother.

(B) The age of the father at the time of
marriage was 27 years.

(C) Theaverage age of the father and son
is more than the average age of the
mother and son.

(D) Theaverage age of the father and
mother on the son’s first birthday was
28 years.

Q13

Ql4

Q15

Prefafim sfaa & W v g & &
yEEs (1) ® WHE W @ 9 U
TT?

JAM24, LEK28, NI132, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEAR2

frrforfaer sfaan @ ud afle s =%
wEfaes (Y7 @ WM W @ O g
e

83,77, 68, 56, 41,23, 7
(A) 2
(B) 7
(C) 10
(D) 11

fFr=fofn v &1 o aln PeifRa Y
& g vl oo 39 @ Ry et 4
¥ fara afoRew gan & awww 2

% foar i gz &t g 13 :3 @ Sum

i #1 aft wren &t anyg 33 ad &, o R

&Y 1Y BT A B Y W WS 87

(A) o afv g3 @ ang @1 SR,
@ g | 79 &)

(B) famw & w faer # ang 27 o
ot |

(C) R afw gz &t e o, s ok
o3 A e Iy 9 afle B

(D) T3 & 9gd wr=afe= uv faen afiv =men
%l i 3y 28 af o
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Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

A is taller than B, who is shorter than C.
Who is the tallest person among them?

(A) Cisnot the shortest person.

(B) B isnot the tallest person.

(C) Theaverage height of Cand B is the
same as the height of A.

(D) The average height of Aand B is less
than the height of C.

Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

A is the son of B, who is the husband of C,
D is the mother of E and wife of F. How is
B related to F?

(A) The mother of D is the mother-in-law
of C.

(B) A and E are cousins.

(C) Bisthe uncleof E.

(D) A isthe nephew of D.

LM-D

Q16

Q17

Frafefea wem &) o sl Fuifta 8
FOE W8 O 1 @ fay Rest 4 @
fre sftfRam o & e 8

ABRET® I B,CH oler &) ol A
R wa W 87

(A) Cwast wler 781 #)

(B) BE=d oar 781 #)

(C) Caiv B shrwm sad A wurd
® awae )

(D) A3iR B afrea sard C & ward
LR T

Frefafem v &1 ug sl Peifa =t
TUE WEl I 31 B forv Rt 4 9
fFa afoRem gan & gwm 2

ABH 78 B,CHI I &1 D,E® i
B Fl ueh 21 Bt F &
way 87

(A) D& Wt C & e &

(B) A3 E®fom (o, gy, Wy,
TR W /W) #

(C) B, E @1 urer /s /v &1

(D) A, D@1 wifran /wion /& |
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Q18 Readthe following question and decide which *T QI8 frafafam uvwm o1 W aiv Fuifa &

Q19

Q20

of the additional information given in the g

options is required to answer it correctly.

Five students, A, B, C, D and E, are standing
in aqueue such that A, C and Eare NOT at
the extremes. Who is standing at the first
position in the queue?

(A) Eisahead of C but behind A,
(B) A isahead of C but behind D.
(C) Eisexactly inthe centre.

(D) There are 3 students ahead of C.

Choose the odd one out.
(A) DVW

(B) GST

(C) IPQ

(D) MNK

Select the term that can come in place of *?"in

the following series,

IBY, 6FV, 11JS, 16NP, ?

(A) 21QL
(B) 21QM
(C) 21RM
(D) 210N

LM-D

Q19

Q20

& gae v o A7 @ forg Rt §
% frn sffes a0 @ gww@ 8

4 BTH A, B,C,D &R E, U& ufter #
MR ES & A CIRERF w
TEl & | Uikt ¥ ued ure o war 87

(A) E,CH amt & dftm A5 98 2
(B) A,CH 3l & aifdst D& fie 8
(C) E faemer w=a o 8
(D) CH 3wt 3 vra &)

Ffafn # 8 s ug @ 937 $ifag)
(A) DVW
(B) GST
(©) IPQ
(D) MNK

39 g & uga atug o Feefefaa
e i wEfeEs (7) & W 9w e |

IBY, 6FV, 11JS, 16NP, ?
(A) 21QL
(B) 21QM

(C) 21RM
(D) 210N
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Q21 Ifinacode language, TABLE is written as Q21 s FE AT ¥ 4f¥ TABLE & SYYHZ
SYYHZ, how will CHAIR be written in the foran wren &, o o<t @ W F CHAIR
same language? o o feran amgaTT?
(A) FBEXM (A) FBEXM
(B) BEFXM (B) BEFXM
L (C) EBFMX (C) EBFMX
(D) BFXEM 2 (D) BFXEM
Q22 If+implies— Q22 af +wramef - &
— implies x ~-o e < B
* implies + x 1 aef + &
+ implies +, + o aef + R
then select the option that gives the proper o o9 fawe @1 9uw oY oradt e
| sequence of signs that when filled in the gaps &1 afea s Totar war & o Ru o
| of the given equation will correctly complete WABTT B e W W W 9w Wl @
the same. G SR S
6.12.3.5 15=11 6.12.3.5 15=11
{A} +, - X (A) +, — + x
(B) +, -, %, + (B) + - %+
(C) +, %, =, + (C) +, x, — +
(D) =+, + x D) =+ + x
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Q23 Selectthe figure thatisrelated to figure Cin 5 Q23
the same way as figure B is related to figure

A.
Ie r. W
36363
[T Y] [11] . =] "
O 0
A 16 -
e
<o
Ol @
[0
D lae &
Q24  Identify the odd one from the given list. Q24

4

ot T

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Overlook

(C) Overpass

(D) Disregard

Q25 Identify the odd one from the given list. Q25

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar

LM-D 12

I o w1 wgH w o angfa C
W @ waw § o angpfy B @1 angfa AW
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(A)

(B)

1ol [0o] [0
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©
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(D)

Fr=faftm st @t it 4 | f= e
& T 1|

(A) gEarFT
(B) 3riad
(C) 3if—fogrn
(D) IEEe

Prfarfre sl 3 @ fr 1w Y

(A) wiwEqe
(B) BT
(C) famreng

(D) g=
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Q27

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

The Parichha Dam in the state of Uttar
Pradesh is built across which river?

(A) Sharda

(B) Chambal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United
Provinces. In which year was it named as
Uttar Pradesh?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

Who was the first Governor of Uttar

Pradesh after it got renamed as Uttar
Pradesh from United Provinces?

(A) Varahagiri Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

Q26

Q27

Q28

SR e vy ¥ g 9 fFe 94 w
T 7 87

(A) e

(B) w=e

(C) &

(D) =rEsT

TR WeW & U HYH Wiad B w9 H
ST e ot | §9 fe ad SR wdn @
am far T ar?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

WYda Wid 9 O yew @ w9 A AW
5o & 418 ITR IR & TS oI
oA or?

(A) TUEMR dme AR

(B) Sl feeerms W

(C) Rww=m T™

(D) A el @
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Q30

Q31

| Q32
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In which year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit
Singh?

(A) 1800

(B) 1805

(C) 1806

(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) Swami Dayanand Saraswati

(C) Keshab Chandra Sen

(D) Swami Vivekananda

In which year did the first passenger train in
India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825

(C) 1853

(D) 1840

Q29

Q30

Q31

Q32

3o & Raems wedig St g gea
78 U o3 e, dan e fra o
B or?
(A) 1812
(B) 1800
(C) 1806
(D) 1813

fra ot ¥ & ffew Foh A weia
fhie & s s @ ueell Wl w
BRI fy?
(A) 1800
(B) 1805
(C) 1806
(D) 1809

1828 # w1 W o g et
# 9 s g ) o7

(A) o I S T

(B) wrlt TuFE W

(C) s =g a9

(D) @& fdere

dug (4 am oAy Rach s
=i ) A oM o wRa F gt o 2.
fw o ach o

(A) 1835

(B) 1825

(C) 1853

(D) 1840
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Q34

Q35

Q36

In which of the following locations was the
first post office in India established by the
British East India Company in 17647

(A) Hikkim

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

(B) 1920

(C) 1895

(D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation'?

(A) Sardar Patel

(B) Jawaharial Nehru

(C) Subhas Chandra Bose

(D) LalaLajpat Rai

In which state is the Eravikulam National
Park situated?

(A) Kamataka

(B) Assam

(C) Kerala

(D) AndhraPradesh

LM-D
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Q33

Q34

Q35

Q36

1764 # fafew $ve §far woh grr wnfim
HIvE &1 9Bl o v Pefafea § @
e o W ur?

(A) fefeww

(B) g

(C) weTH (9@ &)

(D) P (3@ Had)

Wit #id g1 TR B T AE-fR
qur, Frafofaa 4 @ fsg ad &
st @ e

(A) 1909

(B) 1920

(C) 1895

(D) 1897

wETe MR B e sEey H@dRa
T arel UEe wfd @ o

(A) TSR yed

(B) WareY @ AES

(C) Ty =% @

(D) ST A W

gefagem vy sur 5w won ¥ Rea
#?
(A) THlCD
(B) ¥wH
(C) Bva
(D) 3T wew
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Q38

Q39

Q40

Which of the following is NOT abiotic?
(A) Water

(B) Sail

(C) Ar

(D) Fungi

As of 2014, which country is the leading
producer of tin in the world?

(A) China

(B) Brazil

(C) Malaysia
(D) Vietnam

In which district of Tamil Nadu is one of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madurai

(B) Tiruchirappalli

(C) Erode

(D) Coimbatore

As of 2012, which country is the largest
producer of bauxite in the world?

(A) Brazil

(B) India

(C) Australia

(D) Indonesia

LM-D
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Q37

Q38

Q39

Q40

fep=iferfam % & @ wr st nfY &7
(A) urft
B) =1
(C) &
(D) ®a®

a4 2014 0%, IUAE TSN B FAR,
e ddadmaREiRaw
It SauEs 2w &7

(A) °=

(B) amwid

(C) watfdran

(D) faaerim

aftferrg & R et 3 Beed @ am
A W W e e e om, o @
s e a9 o 8, fe &7
(A) gt

(B) frefrme

(€) s

(D) Praagy

a4 2012 0%, SYTE AFEN B IATUR
favg & diewge & WA TS TUET
2 oW W &7

(A) wrie

(B) Wre

(C) siftefern

(D) geFfirn
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Q41

Q42

Which of the following rivers is also known
as Uttara Pinakini?

(A) Cauvery

(B) Brahmani

(C) Vaigai

(D) Pennar

The culture or cultivation of grapes is called:
(A) Viticulture

(B) Pisciculture

(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Alluvial

(C) Red

(D) Laterite

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India
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Q41

Q42

Q43

Preffae # & A @ 79 SR frnfe
@ T A A W o &

(A) T

(B) T

©) ¥

(D) =R

IR B AR R B W wl A
Frafefaa F 4 B s m | 9 S
27

(A) fadiweaw

(B) diiweay

(C) HiPeay

(D) eiféwear

wrey AR iR Frafeafaa § 9
wer B e 87

(A) Breh

(B) wellg

(C) ==

(D) Wz

T Y Freferle § @ fow &
# Remm &7

&) ¥

®) =T s

(©) sifeferm

(D) W
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Q45

Q46

Q47

As of March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6
®) 7
€ 9
(D) 1

India has signed an Mol in April 2019 with
the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (TAIARD) in which country?
(A) Zambia

(B) Malawi

(C) Tanzania

(D) Kenya

In 2018-19, for the second successive year,
which state has been ranked first in e-leaming
training programme of the Department of
Personal and Training (DoPT) of the
Government of India?

(A) TamilNadu

(B) Kamatzka

(C) Telangana

(D) Kerala

LM-D

Q45

Q46

Q47

L¥LPairy

urd 2019 7%, IUTE SIS B ITER
wRer %R § Ries il wda &7
(A) 6
®) 7
©) 9
o) 1

a3 e 2w A wra-anfie o o
i e S (IAIARD) @) wrg=r
& foy e & o pileer v
HYd daaude wuse W widw
(NABCONS) & e aifter 2019 o
awshion o v swner fy 87

(A) onfraan

(B) werd

(C) wranfrar

(D) @

2018-19 % wmar ger ad @ foy, fFw
T B ARG TSR @ HIfi® vd e
faarr (DoPT) & $—affo uftwror sl
A g v fEar ar &7

(A) Tffierrg

(B) Fles

(C) T

(D) ave
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Q48

Q49

Q50

Uttar Pradesh Diwas is celebrated on which
ofthe following dates?

(A) 25*March

(B) 2%April

(C) 10*April

(D) 24* January

Asof March 2019, which is the third-largest
bank in India?

(A) Indian Bank

(B) Bankof Baroda

(C) ICICI Bank

(D) Canara Bank

Reliance Mutual Fund has partnered with
which of the following companies to launch
voice-based financial transactions?

(A) IBM

(B) Accenture

(C) Google

(D) Infosys

LM-D

Q48 I wiw Raw frafafem 4 9 5w
i @1 wemar mar 87
(A) 25 5rd
®) 23w
(C) 10ada
(D) 24 rad

Q49 W 2019 U, TUTE TFBHTN B FTER
HINT &1 AT wad q@r fa @ o §?
(A) sfemm I5
B) ¥ aifp adrar
(C) andiamdiang =
(D) @7 ¥

Q50 Rerw ~Eye v 2 Preafafaa 4 9
fre wolt @ W amara—amanfRa R
e g6 1 @ fay wmed 6 87
(A) IBM
(B) Accenture
(C) Google
(D) Infosys

LrErriLy
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Q51

Asof March 2019, what is commion to these
four countries — South Sudan, Libya, Yemen

QS1 e 2019 T, IYTH WA B FTAR

g1 9R <9t — gftvr e, ifdw o=

and Greece? v P — & foefofaa 4 @ @9 &
(A) AllareAfrican countries 1 W 27
(B) Allare monarchies (A) et st a7 &
(C) Allare Mediterranean countries (B) &l wowiA &
(D) Allofthem have had an average (C) w#Y spremarTig ov €
10-year negative economic growth (D) & wf & afrwee 10 Ee &t
7 TR S i g€ @
Q52 In April 2019, Reliance Jio acquired the Q52 afta 2019 # Regw fmr 3 e
chatbot-making startup firm Haptik for: i i Aedle 9 Tl wieau v
(A) T 700 crore Haptik &1 sfersor fasar?
(B) T 500 crore (A) T 700 TS
(C) T 600 crore (B) T 500 F918
(D) T 400 crore (©) T 600 TS
D) T 400 T3
Q53 International Centre for Automotive Q53 SevHvFe e BN aieHifeT 2watan
Technology (ICAT) is scheduled to organise (ICAT) 7Faav # <o (NuGen) Aifaferdt
NuGen Mobility Summit 2019 in November Rreay wier 2019 Frafofea § 9 faw
at which of the following locations? W 9 e we arel 87
(A) Mumbai OV o
(B) Manesar (B) AFEY
(C) Bengaluru (C) dTege
(D) Chennai (D) ==
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Q54 Which ofthe following companies owns the

Qss

Q56

videoapp TikTok?

(A) OpenXcel

(B) Consagous Technologies
(C) ByteDance

(D) RipenApps

In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

(A) Imran Khan

(B) Theresa May

(C) Emmanuel Macron

(D) Narendra Modi

Who among the following has become the
first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

BIT24547
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Q54

Q56

=it & @ a9 @ suh O @y
TikTok @1 w@ifiea vaan &7

(A) OpenXeel
(B) Consagous Technologies
(C) ByteDance
(D) RipenApps

Frfaftan 4 9 &% UAE a7 alia 2019
i, Rl wrifts weul @ & gm@n
2 @ fon uftflew wue vew & wm
wenfa fEar war?

(A) TR &F

(B) &var A

(C) whaua fmi
(D) & Hid)

fr=fafl & P TR0 & sl R

G T &+ &2
(A) 8

(B) weash nfiten
(C) S Hew

(D) gt afeh
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Q57

Q58

Q59

As of April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgium

(C) Germany

(D) Austria

As of April 2019, who is the President of
the Confederation of Indian Industry (CI1)?
(A) Kumar Mangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) RajivBajaj

Asof April 2019, who is the Chancellor of
Tamil Nadu Agricultural University (TNAL)?
(A) Trilochan Mohapatra

(B) Ajay Kumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

Ealeasay
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Q57 U 2019 6%, ITFE TSI B JTHR
frafafea 4 9 @ W 2w e der
favg gedta W # ggd WA w &7
(A) ¥t

(B) afeuram

(C) s

(D) 3iffegan

Q58

Q59

I 2019 T, ITAE AHSH B TR
W S aREE (Cll) @ smas 3
&

(A) TR Hrew faven

(B) ¥ fEgan

(C) faww faeiTeny

(D) ot Tt

i 2019 7% I WFEHT B IR,
affeg ot fwaflama (TNAL) @
FaRGy # §7

(A) e mwmE

®) I FR R

(C) wfer amear

(D) TTariaTe yRfta
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Q60 Asofluly2019, whoisthe Union Minister Q60 Tei§ 2019 T, SUaE TH&0 & JFHR

Q61

Q62

063

for Agriculture and Farmers Welfarc?
(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) AnantGeete

(D) RadhaMohan Singh

Which of the following countries is the Q61

largest producer of wheat in the world?
(A) France

(B) China

(C) Australia

(D) Canada

The Keetham Lake and Sur Sarovar Bird
Sanctuary are located near which of these
(A) Jhansi

(B) Kanpur

(C) Lucknow

(D) Agm

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(C) Jaipur

(D) Hyderabad

LM-D
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I P i Bum e =0 I
&

(A) = fHiE

(B) & e

(C) &a

(D) wrEn wEw fHe

fr=fafm % & @9 @ 29 fawg # 9
T TIH TS IS 2 27

(A) Wi

B) 9

(©) sieferm

(D) Pt

fum #ie oiR g wdaR wef sy
frefafas e wee & o fa &7
(A) i
(B) R
(C) T&TH

(D) TR

W B B W OweY Wi wew
e &1 W 27

(A) S

(B) wnferaw

(C) v

(D) FavE=
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Q64 Which state police has its motto as

L= i Th

Q65

*Suraksha-Apki-Sankalp-Hamara'? It
means * Your Security Our Resolution’.

(A) Odisha Police

(B) Rajasthan Police

" (C) Uttar Pradesh Police

(D) Haryana Police

In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway
(D) Generation

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) ABDe Villiers

(B) GaryKirsten

(C) AdrianDale

(D) HashimAmla

LM-D

Q64 Frfafea & & fvm wou & yftvs &

Q65

Q66

FET T B YRS - Hea—
TAINT? Tl 3 & el e e
wHed |

(A) shfsm gfers

(B) wrowRer gfere

(C) wor Wi yfers

D) sRawen gferw

3G, 4G 3R 5G # Hrger e sjaen
d G & T 3 g #7

(A) g

(B) frmfae

(C) e

(D) SFREH

o sppiet @ 9w qd e @ @
M & S e A 2019 dom @ fag
g doiore §TER (RCB) fvdie & &1
= o 87

(A) wd & faford

B) T we

(©) ufgma 3w
(D) =W apEr
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Q67 Indian Railway Minister Piyush Goyal has
announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
of this milway zone?

(A) Southen Coast Railway Zone
(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone
(D) Seemandhra Railway Zone

Ikhlas Khan's Roza (mausoleum) s situated
in which district of Uttar Pradesh?

(A) Meent

(B) Saharanpur

(C) Jhansi

(D) Budaun

What is the full form of RFP, which isused in
the context of an RFP document in the IT
sector?

(A) Request for Proposal

(B) Request for Petition

(C) Request for Process

(D) Register Formal Process

Q70 Watson computer is a product of which of
the following companies?

(A) Microsoft

(B) IBM

(C) Google

(D) Dell

LM-D

Q67 i ¥ A drygw e ) e v |/
A 2w B g @ A ¥ e A
w &) 58 Y6y oE @ am
87
(A) @eh e Yo i
(B) TrwHm Yo o
(C) ®RFsw e &g oM
(D) ¥ Yo o

TG @ B A () SO wen
& frafofiaa e ford 3 Rea &2
(A) wa

(B) WERYR

(C) i

®) T

RFP &7 931 1 @ 8, foveast v IT
Haex A RFP g & wWed o fa
e &7

(A) Rere B o

B) Ratw wiv Mfews

(€) e o W

(D) W wife o

diew Tgey Frafafer 4§ fva soh
& s &7

(A) Microsoft

(B) IBM

(C) Google

(D) Dell

Q70
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Q71

Q72

Q73

Q74

Kevin Systrom and Mike Kricger are the
founders of which of the following?

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow

(B) Varanasi

(C) Kanpur

(D) Prayagraj (Allahabad)

Who among the following was popularly
referred to as the Sher-c-Ballia?

(A) BhagatSingh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

LM-D
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Q71

Q72

Q73

Q74

aft Rigla v aigs e Frafafas
# 9 frae dwuw 87

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

g fig Rwefuney & wmon
Frfafea 4 9 s @7

(A) Vgm0

(B) ory visw R

(C) Mfd= Toom da

(D) #e W "edig

To1 FAMATST I ®El floa #7
(A) dETE
(B) amIvTl

(C) TR
(D) WATRI (§ATEIE)

ffofaa 4 9 @ de-vafom &
AW W W S or?
(A) W i

(C) fa wid
(D) #7Tel 9@
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Q75 Who was the Samajwadi Party (SP)
Rajnath Singh in Lok Sabha Elections 20197
(A) Suresh Bansal
(B) Purvi Verma
(C) Usha Verma
(D) Poonam Sinha

LM-D 27

Q75 wwE g 2019 @S | 9
iz & Reaw wvad o (@) &
Seirear Frafefea 3 ) o ar

(A) §oo Fwa

B) o i

(C) S T

D) T fow

B3 154547
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Q76

Q77

Q78

Q79

LM-D

SECTION-3 | GENERAL SCIENCE /ARITHMETIC | 50 QUESTIONS

Name the force that binds protons and
neutrons in a nucleus.

(A) Electromagnetic force

(B) Weak nuclear force

(C) Gravitational force

(D) Strong nuclear force

(A) isotopes
(B) isobars
(C) isomers
(D) isochors

Which of the following gases is necessary
for combustion?

(A) Hydrogen

(B) Carbon monoxide

(C) Oxygen
(D) Methane

Which of these values represents pH of an
(A) 5
(B) 2
(€) 10
D) 3

BIEOANL T

Q76

Q77

Q78

Q79

F e § Wil v SgE @ e
e T B T ded &7

(A) Rggn gz 7=
B) gda T T

(C) T 7
(D) vaa -fea T

yfeyw, sqeRaw sk Rftaw =
frferfan ¥ ¥ fraa A9 ¥ v T
&2

(A) srgEem

(B) IgH@R

(C) angHmR

(D) SFEBR

75 & forg Prefaferaa 9 @ @
s 87

(A) BIEHIO

(B) T AERiTEES

(C) afferirar

(D) fowr

Preferfn # & @ & W @ &0
R & pH 7 wRfiRE e 8
)

®) 2

© 10

©) 3
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Q80 Which ofthese is sonorous?

Q81

Q82

Q83

(A) Wood
(B) Water
(C) Rubber
(D) lron

QB0 =i # & 2 w1 wenl s afs

Select the water-soluble vitamin among the E Q81

following.

(A) VitaminsC
(B) VitaminK
(C) VitaminD
(D) VitaminA

Rimjhim's physician advises her to avoid
consuming a diet high in saturated fats, If
Rimjhim does not follow her doctor's
advice, she can be at a risk of:

(A) kidney discase

(B) cardiovascular disease

(C) anaemia

(D) pancreatic disorder

Which of the following is a major source of
phosphorus?

(A) Potato

(B) Amh

(C) Orange
(D) Mik

Q82

Q83

(sonorous) 9aTef 27
(A) v

®) o

(C) ™

(D) e

Frfafea 33 27 W @ oa § g
faefim &7

(A) fefmc

(B) fefmK

(C) R=f=mD

(D) faefmA

fafEm & fafdcss 4 @ wga aw
(frg¥ee de) aret o @1 9 e
oY @ were ) 2| afk e e
fafcns & wam o1 urem 78 s &,
ot 99 Frafofe § ¥ e aou &
waar &7

) T2 A

(B) ®=a A

(C) amwmegan

D) sy [{paits) Rer

Prefafa # ) 2 &1 BiveE @1 @
vgE Wi &

(A) 3T
(B) faan

(C) Haw
D) g
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Q84

Q85

Q86

Q87

LM-D

What is the false feet with which amoeba
ingests its food called?

(A) Axopodia

(®) Pseudopodia

(C) Filopodia

(D) Reticulopodia

In our body, where does 90% of our total
nutrient and mineral absorption take place?
(A) Kidney

(B) Large intestine

(C) Stomach

(D) Smallintestine

Which among the following is referred to as
nearsightedness?

(A) Hypermetropia

(B) Hyperopia

(C) Myopia

(D) Astigmatism

Who discovered the X-rays?
(A) GalileoGalilei

(B) J) Thomson

(C) EdwinHubble

(D) WK Roentgen

LYSPELES

QB4

Q85

Q86

Q87

fPr=fefas 4 & $19 w1 v FeuE (false
feet) & forerey ardtar e Ao @1 Feren
14

(A) TEEmIfEa

(B) wSmifsar

(C) et

(D) YRemeifEar

AR YR # BN §A 4NS O« 3R
Wil Jagimor &1 90% e @t g
&

(A) g9®

(B) & arie

(C) srmea

(D) B i

frafafea % & f5 Foe gfedw &
WY # SIFET oI 27

(A) sTEUHZRAT

(B) ETETRIT

(C) s

(D) tReTafew

- B W e @ i
(A) Meferr Mereht

B) W, e

(©) =T gaa

(D) s&Y, B. Ve
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Q88

Q89

Q91

What is the SI unit of time?
(A) Hour

(B) Second

(C) Minute

(D) Millisecond

Proteins are one of the
that provide calories.
(A) four

(B) three

(€) two

(D) five

nutrients

is also known as cobalamin.
(A) VitaminB12
(B) Vitamin BS
(C) Vitamin B7
(D) Vitamin B9

The greatest number that divides 59 and 54
with remainders 3 and 5 respectively is:
(A) 7

®) 3

(€) 5

D) 8

LM-D
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Q91

T @ Sl e wur &7
(A) g1

(B) ¥%s

(©) fe

D) fciss

W, iy ot f @ v #
o B wam T &

(A) TN

@) A

(C) &

(D) |

Freiferfaa 4 & s wwarenfis & s @
1 W o &7
(A) Ref=BI2
(B) A== Bs
(C) faeifm B7
(D) faef@= B9

3% wad %9 e a9 W & fred 59
3w 54 &1 Renfore &) e e 3 af
5 ¥ Ty &7

(A) 7

®B) 3

© 5

D) 8

SERIES-D-B




Q92

Q93

Q94

Q95

Ifthe volume of a hemisphere is 18 7 cm’,
then the total surface area of the hemisphere
&

(A) 277 em?

(B) 187 cm’
(C) 247 em?
D) 21 x em?

Let ‘a” and b’ be two numbers. The HCF
of ‘a’ and ‘b’ is 4 and the LCM of ‘a’ and
‘b’ is 400, Then, the number of the pairs of
vilues *a’ and *b’ can assume is:

(A) 3

B) 4

© 2

D) 1

Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively. Tap C
can empty the full tank in 45 minutes. Ifall
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18minutes
(B) 36minutes
(C) 24 minutes
(D) 30minutes

A and B can complete a task in 60 days and
90 days respectively. With the help of C, they
completed the task in 20 days. If their total
earning is T 36,000, then considering that
their earnings are in proportion to their work,
the share of C will be:

(A) T 16,000

(B) Z 13,600

(C) T 15,400

(D) T 14,800

LM-D
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Q92

Q93

Q94

Q95

afe v I e BT A\ 187 em’R,
a 99 & e & Fd waal SABA
e ghn?
(A) 277 cm?
(B) 187 cm?
(©) 247 cm?
D) 217 cm?

A o ‘2’ 3R ‘b’ ST e | e iRy
w1 AETH wAMad® 4 8 3 g
HYad® 400 | T ‘a’ R b’ B W
W WG W WA T B wear &7
(A) 3

B) 4

€) 2

(D) 1

o AR B US @il € @l wAw 30
e iR 60 fime & R wad &1 79 C
oft % g¢ < B 45 Mae | @l 5
T & | Ay 9T 7o v wer wie o
g, o1 @il g 3w H faseen W
wrm?

(A) 18 fiFe

(B) 36 e

(C) 24 e

(D) 30 e

A afv B fet o &1 mae 60 Rt afik
90 f&=T % g1 @ W § 1 C 31 el
W, S g6 1 B 20 & A q@ aw
forar| aft o7 a! @@ Tg T 36,000 2,

Tl g% 2@ g 6 S S 9 &
@ U | 8, C & fewan fsoen gn?
(A) T 16,000
(B) ¥ 13,600
(C) T 15,400
(D) T 14,800
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Q96 Shilpa travelled at a speed of 20 kmv/h for 3

Q97

Q98

hours and an equal distance further at a

speed of 15 km/h. The average speed of
Shilpa (in kmvh) is:

1
(A) ]?E

1
®) 175

1
(€) ME

1
D) 163

In APOR, 20=90°. A, B and C are the
midpoints of PO, OR and PR respectively.
Then, which of the following statements is
TRUE?

(A) P, A, Band C are concyclic points
(B) R B, A and C are concyclic points
(C) Q A, Cand B are concyclic points
(D) Allofthe given options

If & " is the measure of an angle which is
equal to its complement and 7° is the

measure of an angle which is equal to its

supplement, then % is:
(A) 3

B) 1

(C) 2

(D) 0.5

LM-D
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Q96

firem 4 39Ei & fov 20kmh @ wfY @
AR 9ot & 3R g 3115 kb A R
R ma fsan frew 2 sea 1 (kb
#) s &)

|

(A) I'i'"j'
!

(B) 1 ~

1
(C) lﬁi

|
(D) lﬁ;

APOR W, £0=90° 81 A, B3R Cwwm
PO.OR 3% PR @& wa fig & o
fr=fafaa 4 & 9 @ T vl 87

(A) P. A, B3R Cyageig fig &
(B) R B A 3R Cywadhy fig &

(C) Q. A4, C3lv Bysgd fig &
(D) fRy m wf R

uft a°Us S FT WY & W gED
WIS & WY § 3R g0 e I @
79 & Ol 59 RS B WAy & o
o

ﬁmﬁl

(A) 3

B®) 1
© 2

(D) 0.5
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Q99

Q100

Q101

Q102

LM-D

Ramesh sold a box at 10% profit to Suresh.
Suresh sold it to Ganesh at 20% profit. If
Suresh’s profit is T 44, then the cost price
of the box for Ramesh is:

(A) T 200

(B) T 150

(C) T 100

(D) T 250

Mahesh had x number of trees in the year
2011, Every year, due to new plantation, the
number increased by 10%. In which year
will the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017

(B) 2016

(C) 2015

(D) 2014

A money amounts 10T 4,200 in 3 years and
to T 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

I
(B) IIE%

(C) 30%
D) 25%

For the first 567 natural numbers, the
arithmetic mean will be:

(A) 2835

(B) 284

(C) 284.5

(D) 283

:
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Q99 VY A UFH w@ 10% FAM W G F

a1 | G A §H 20% AW W T B
aa fan) aft g A T4 & I aftia
fom o v @ fav @ @ @1 W
W fbaen &7

(A) T 200

(B) T 150

(C) T 100

(D) T 250

Q100 ¥ 2011 3 w&w & I x 98 & | WAF

Q101

af, 7y guger & wRenL g e §
10% % gfE & ol &) o) gEel aw
forer ok ¥ 2011 @) ger A e A HEm
w0 FW 50% a8 oneAr?

(A) 2017

(B) 2016

(C) 2015

(D) 2014

UT S SR & g W 3ad |
24,200 3w 6 af ¥ ¢ 6,000 & wrh &)
o A &1 feeh 87

(A) 20%

1
®) 125%

(C) 30%
(D) 25%

Q102 wEel! 567 Wipfra wemdl o1 W

e faerr g
(A) 283.5

(B) 284

(C) 284.5

(D) 283
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Q103 A cone has its base radius as 7 cm and slant
height as 25 cm. The volume of the cone will
be:

(A) 1232cm’
(B) 3696 cm’
(C) 1864 cm’
(D) 2464 em’

Q104 Out the following numbers, which one is
NOT a perfect square?
(A) 3136
(B) 12544

(C) 1296 :

(D) 23832

Q105 The decimal expression for 8 rupees 8 paise
&
(A) 88.0
(B) 8.008
(C) 8.08
(D) 8.8

Q106 In the product of the first 35 even natural
numbers, the digit at the ten’s place is:
(A) 2
B) 6
(C) 5
(D) 0

Q107 Out of the following, which is the greatest?

(A) {49}5
®) 7

(© {24{11}'7'

i)
© 343
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Q103 T® ¥iE & M & fBow 7 em R
foveh S (vic ge) 25em ) wm
& Fgaa o gm?
(A) 1232 em?
(B) 3696 cm’
(C) 1864 cm?®
(D) 2464 cm’

Q104 Fr=ifeRen deamil 4 ¥ @ @ e
uF qof aif adf 87
(A) 3136
(B) 12544
(C) 1296
(D) 23832

Q105 8 vud 8 &9 & qulv @ fory TwweE
yfvafeE = af?
(A) 88.0
(B) 8.008
(C) 8.08
(D) 8.8

Q106 Tse 35 w9 Wipliw weardl & [uree
%, g8 @ W W P W 3’ B?
A) 2
(B) 6
(C) 5

D) 0

Q107 Fr=fafea % @ o9 @ v v @
27

(A) {49)5
® 7

© (240 1}_7I

®) (ﬁ]

L
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Q108 If2* x 5*endsin 5, then the value of x is:

(A) |
(B) 0
(C) 2
(D) Novalue of x

Q109 The LCM of two co-primes ( a and b ) is:

Q110

Q111

Q112

(A) a-b
(B) at+b
(C) alb
(D) ab

The difference between a number and the
two-fourth of that number is 60. What is the
number?
(A) 120
(B) 125
(C) 130
(D) 160

IfA:B=3:7andB:C=7:9,thenA:C
is equal to:
(A) 3:7
(B) 2:3
(C) 3:1
D) 1:3

X takes 8 hours to complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working

together but independently, to complete the
same task?

(A) 4days

4
(B) 4—:{ days

5
(C) 4; days

(D) 5days

LM-D
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Q108 TfE 22« 5 & a3t 3 SEww B o @

u= e grm?

(A) 1

(B) 0

(C) 2

(D) x &1 ®I1F A 8 B

Q109 & WE—amro Heawil (a 3he b) &1 wga

HRMEc® = e
(A a - b

(B) a+b

(©) alb

(D) ab

Q110 f&h wem aw ows -dud 3 §=

62507768

Q11

B AR 60 B | wem aur 87
(A) 120
(B) 125
(C) 130
(D) 160

a% A:B=3:73RB:C=7:9%, @l
A:€ o aua )

(A) 3:7

(B) 2:3

(C) 3:1

D) 1:3

Q112 f&eh Fm & qu a9 @ fog X @ g we

el € | S8 d e qu a @ fev y
B 1262 7 # ) oW wm Y qu v
o fore X afiw Y & o e o, afsa
wWaa w9 9, o wwa @t

(A) 4f&=

(B) 4-:- fa=
5

(©) 4; fa=

D) 5=
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Q113 Find the area of a square whose diagonal is
10m Img. LISTTHE
(A) 10m?
B) 50m’
(C) 100m?
(D) 110m?

Q114 Solvethe following.

(1 —sin*g)sec’g =
(A) O

®) 1

(C) sng

(D) cos@

Q115 Find the range of the following data.

32,45, 16,28, 69, 34, 29,54, 48

(A) 16

(B) 44
l (C) 53

(D) 54
| Q116 What was the name of the first spacecraft
| launched by India in 19757

(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

Eastern Dedicated Freight Corridor?
(A) 1556 km
(B) 1656 km
(C) 1756km
(D) 1856 km

Q117 What is the total route length of the proposed
LM-D 37

Q13 v o fows e @ Jad 10m &,

TS HAGA T |
(A) 10m?
(B) 50m?
(C) 100m?
D) 110m?

Q114 Prfafaa @ wa ¢

(1 =sin*g)sec’g =
(A) 0

(B) 1|

(C) sing

(D) cosg

Q115 Fr=fafm sre & W& 9 &1

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
(D) 54

Q116 1975 % wa gN1 @4 f&v 70 9sd

cier A= & W T 9T
(A) "

(B) wmivg

(C) Tus

(D) wfgvh

Q117 weenfaw gdl wiffa we Fifter i darg

frerh &7

(A) 1556 km
(B) 1656km
(C) 1756km
(D) 1856km
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Q118 Which of the following missiles developed
by DRDO is an air-to-air missile?
(A) Prahar
(B) Shawrya
(C) Astra
(D) Prithvill

Q119 Deficiency of which vitamin causes rickets?
(A) VitaminD
(B) VitaminB
(C) VitaminE
(D) VitaminA

Q120 Which of the following diseases occurs due
to the deficiency of proteins?
(A) Goitre
(B) Kwashiorkor
(C) Anaemia
(D) Bronchitis

Q121 Which of the following diseases can be cured
by increasing intake of citrus fruits?
(A) Pellagra
(B) Blindness
(C) Scurvy
(D) Osteoporosis

Q122 Which of the following statements is TRUE
about the process of evaporation?
(A) Liquid state is changed to solid state,
(B) Gaseous state is changed to liquid state.
(C) Solid state is changed to liquid state.
(D) Liquid state is changed to gaseous
state.

LM-D J8

Q118 DRDO g1 fawfte Prafafea i & &
A e g 9 w1 A AR S areh
% fama &7

(A) Wer

®) wird

(C) &=

(D) geit 1l

Q119 Frafaflr # & frw Refw & o6 |
Raew & fard o &7
(A) fef= D
(B) fd=fm B
(C) fa=af=E
(D) faefim A

g0 r08eS

Q120 WidF & =0 & FNv Frefafas § 4@
a9 @ fradh ah &2
(A) Mg
(B) TN
(C) witfrn
(D) diwEfew

Q121 e wal @ o+ 3 agr ¥ Prafafem
79 39 @ o8 & 5 v &2
(A) demm
(B) e
(C) i
(D) siReammfas

Q122 amsfiaver & uftvan & an % Prafafem
# A A e wf 87
(A) =a v, S s ¥ 9 o
Bl
(B) i srven, 7 v ¥ agd o
1.4
(C) Or Jyave, 7w v 3 g5 oI
Bl
(D) w= v, Ay arren # od o
2l
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Q123 Which of the following has resulted in the

deterioration of water quality?

(A) Improper disposal of sewage

(B) Deforestation

(C) Incomect distribution of water
resources

(D) Overpopulation

Q124 The Sl unit of stress is:

(A) joule
(B) pascal
(C) wolt
(D) watt

Q125 Name the instrument used to measure

absorbed or evolved heat.
(A) Ceilometer
(B) Colorimeter
(C) Calorimeter
(D) Clinometer

LM-D

PRLIVED
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0123 Fr=fafaa § 9 fFae Romasy o

& e # fine and 87

(A) "2 gt =1 w8 | Fuers 7 &
(B) & & IR

(C) od waEAl &1 Toa A

(D) scgfE SeE

Q124 ufw= (stress) @ SI gpE F7 87

(A) 9=
(B) g
(©) o=
D) @e

Q125 fr=ifafaa # | e g3 &1 Sy

syt o Rsfia @1 (heat) & WA
& foro frn e 87

(A) Taerier

(B) wenfiie

(C) e

(D) fa=riey
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

QI26 “oR ®1 B ey & Wl aed g Q129 & w i &1 wfievor v it @ sy @

(A) faga 19 IR 9¢ far amar & o Prefafea §
®) Rand o g /P W W g sienfa € s
(C) 3o avg @ (A) 3 ¥
(D) T ¥ (B) W TR
(C) TvaE W
QI27 T TH & VA A AW IRy 4 D) faga w&w

e w4 @ fav wrmemee #® um

foran | swer 78 vA v wf Fangm? Qu30 Fyefefan 3 @ witds wf s @ &2

(A) =T g3 (A) o
(B) e 9= B) =
(C) =maaia® g= (C)
(D) =mRe® g3 @) 4

QI28 smiey IRw ¥ afed & wwarw Q131 W% g # ¥ W vuwt &

f&a = w angm? (A) W
(A) = TR siw B) W
B) s 7 i (C) =
(C) &t =ifeh aiv (D) &
(D) H ¥ iR
Q132 ‘&’ W= § ¥ W wewy &7
(A 2
B) %@
©) %
®) &
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L QI3 R M mega @M er-amw Q136 Frafafem i 3 o wr v Ram-gm

| i Wa@ifda v fw s o1 agew . T 87
&7 ; (A) WETAN-ZREM
(A) oS (B) wH-faww
(B) wHwEaTTaS (C) wwefa—faeh
(C) Wi (D) wfe—afie

(D) uftorERS

Q137 vt sl e gwfoy @ &
Q134 wm weil UH fbur ware v o am wed & 1R w A Freafafea @
o i ¥ wg s & a9 gge v P A/ TR T
| &1 HEAT 87 (A) Tty
(A) wEm® fma (B) il
(B) wrEm® i (C) el
(C) pwifers fasm (D) wefor
(D) pafers s
QI38 ‘wd & gWI WY W T BT T @
Q135 frefafam 4 9 o9 w1 S=fea @ o & we Fr=fafa & & s 8
’ vafaard w1l 87 (A) a@awm
(A) ¥Ew (B) T
| (B) el (C) el
'IF (C) IS (D) wew™
(D) v
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Q139 Frafafea # 9 29 W me ST &7 Q143 do-d'a =@ & wrr- @ fav sftm

(A) HEu™ Gicaita i ol

(B) (A) O @ O B ur @

(€) ®m| (B) TEE1 ® uwrel 76 aWfY @ are
(D) eredl (C) & &1 gy urll &1 urh

(D) o =1, # qrr-um

Q140 ‘gt 7 S¥war o & @ o |~

R & Y 87 Q144 Prafafa # 4 o & vomn A=
(A) HTSETES %l el 27
(B) Waara® (A) R @ A
(C) wegara® - (B) @TaT qEHTIY
D) FoEED P © R
(D) TI&T HHNE
Q141 fr=fafen § & ow & arw arge &7
(A) w1 W Sua fov e an Ql45 B witw & yfer & Jus IF
B) ¥ o A 3 dwA A o @) &
(C) &4 =M1 # $aad afl aiew B (A) HEE o
©) # D T T e € ®) @t W T
(C) wondware Bad
Q142 ‘Tua 9 fear & forg wfee yemaw ¥ | (D) e it
(A) g e
(B) T ArE

(C) zwet & oA &
(D) =¥ A A S

LM-D 42 SERIES-D-B




Q146

Q147

LM-D

ydy A e s | Rele g
&

(A) wrel

B) g wrred

(C) i

(D) aras

g ey 7wt 3 faw o
# foran mar?
(A) snfesra
(B) Wi
(©) Hfvwra
(D) 3mgfrs e

Biaiels

Frafafan owe® o1 segs diftn
v A Ry 77 we=T (wee wean 148 -
150) & 9w &)

e Wt A wphy T W i 8-
e, guafowa a1 gev w9 # o6 w9,
e o e v N, of v, R
ar fafera &y 4, afw &6t 97 % Hwa @
WU &Y ¥ | W H F gy ITWD
I W wu A = g 8 i 9ve

ST BT BT AGAT T GEHnT 78,
afew Fwamed g wfdflen aramn 2

Q148

Uil BIH Fe U WIS @ S
HPEAIY Y D (AR, Bifbeafn
e air dioe gawd @ik & A
wul fr o € 3 fawdt ar wfersy
B g0 vorR @ Daw gaarTaien
g wvaam argerTd, i R
iR @ e Srewaa @t i afy
A 7 g€ Daviefier & g Rfdeaad
weor 9 e, s it fRafteer 4
8 30 g5 @ fog e T & 3 oA
& W WG a1 weew T W @
IERYL, ARV 4 WHR S Ul B
v e ave B arehfe, afera,
ey gl Hegpa & urim HRat
et 81 Rea @8 @ sl 3 e
v ¥ o aREEw wehe awgel @
AT~ oo Dad S B e
¥ [ | v v § dig-aga witee
fRrzor fisan &, a8 Wl & R wafngfiy
® Y )

wudta ey @ forg oftm indes womgu

(A) wofa &1 w9
B wf v vl
(C) we=n &R

(D) vy = Higd
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Q149 IWET TN F IER W TORY S [WEWEN T IgHUEA Sl B
T, a8 o T8 8| vl @ W=

ot @1 foror wega @ wide Sl

i e &) waa sl 7 SaE

fororer &7 wf¥ere avis gam &)

(D) food @3 & syt 3 gEs ==
i o siftreor gl el @

ff @ AR, R 9Y R

wUT B TG gTel U BH S8 4+ 3

(A) W& ¥5AT §

(B) ¥awd va i

I Foolw gl 6T H

(€) Rod @ & w4 aRe @ R &) Wi v A

(D) arAfE, wiferer, vl genfR Jigi—aga witae fEw G g,
| ?ﬁﬁpﬂgmiﬁﬁ'}?ﬁﬁ ﬂ?ﬂ?ﬁ o Ay ﬁﬂﬁ‘{% o
| Geal

Q150 TR e o e B |
(A) &= &fa & gy wpla & @i
waf # o g &, wuifs ud
‘ Hﬂ?mﬁlﬂ?ﬁﬂrwnmﬁwm 5
761, afew Fvaead gr widfen
a8
| B) it #ua gwmrata fgefea
ffRfiray & e o & iR
i @ 30 g8 devimiRer @
da AR wmeor @ R,
wean aiw fafemar 4 € s geg
@ forw ®w g & 4 wedE §,
e NI U1 wged |
(C) wofa @ =) W & & gav , TPl
2w | ve ofd @ geu 9F 4
v 81 fg, o vl @ awd
dfed @1 wga auar SEd)
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Read the following Instructions carefully :

Frafafaa Frdal &) eme @ o -

1. Out of the four altemnatives for each question, only

one circle for the correct answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

The candidales should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet,
. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

. Each candidate must show on demand his / her Admit
Card to the Invigilator

No candidate, without special permission of the Center
Superiniendent or Invigilator, should leave his / her
scal.

. The candidates should not leave the Examination Hall
without handing over their Answer Sheet (o the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
un unfiir means case,

Use of Pencil/Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

10. After Examination is over, candidate has to return his

Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheel,

11. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the
lovigilator after the exam.

1.

SLELODES L

a~

yelde u @ fere Ry 1 ar et 4 @
HEl 9T & [y 3. v IR 9 OHe W
@acl U@ M 1 ' T avE I i uige
U # W U qR S difha v WA @
g I TG T T HHw &)

. gl yftea o8 @ SR v @ Ae

7 WY 4 9 W o o P 9 el
uderell s e ST gEe A Pl

W B sifvRaer aa= = o

T T OTR USSP @ el
v &, e & 0 aRitafy § @ae
e giat § &9 3 Bie I gud v
RO (4 9O UG SUqE T8 S0
AT |

gden gt o € wh ol Wi
@ qyiendi wft afa | LEC
fered |

. I8 WM W ved wdenefl, e srodes

I WA uEE R
Sl a1 B oS o A iy @
o &1 gdemefi o o 7 B

. TN T ARIOT T G IR UAS 2

fa odemdt s wm 6 B af?
flt uderell % gufef® v v swmER
=8l f&y o g wFm ST # 9w 9T
y=d 7 wern € 3w a7 afam wem @
HEST AT S |

e / gaagiie / svwrafora uRaes &
Iy afvkea &)

. e gt A smavw @ e ohand g @

Wit Prpsit v Ry grr Prafia 81 spfem
weEl @ Wl et @ BEen s @
Pt wd faferdt @ seram g

10. 98081 & Suvfer aneefl SR U=E e e

1.

o e € s g anad] @) e
g B apaddl uf / gdfra ufe e o
gt aen foresd auvia & w8 @ ole
Fafa 4 S| o uEE i anaedf ufty
el @ AU W @ O # s )
udier & guwia wharfl st vhar gfas
o5 yades S aterh ghft ader
gRaer ® gdarefl avd we Sl @
o "ad &)
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